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N = 0] &F AF S & AN A
2018 = =20 A LB H S AIZEHAH
EA: EAZEHLAH
HEM: AQIET Al AFY
CHRl: AQIES Al JIBtXR A (2 &HH)
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TAAEHH 3,283,888 1,646,344 1,637,544
AQE S Al AIY 3,234,602 1,612,254 1,622,348
AQIEZ Al J|BtX A 3,234,602 1,612,254 1,622,348
ABLETZ Al DI =4 A Y 7,240 7,240 0
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01 AP 2t 2] H| 2,240 2,240 0
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O1 222 % AHA 133,200
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DEAMEA SAUZA MRS
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OEANABHEH SHA AXBA
15,000, 000& = 1Al 15,000
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201 £B-2dH| 46,000 46,000
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207 A O] 300,000 300,000
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O ZA M A E 300,000,000 =14l 300,000
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DS LHE TV HIIe=
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HE2LAIH(SAZEELH) 49,286 15,196
eI 23l 22,426 7,952
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